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\ donates 15% of his monthly
nth, which is Rs. 1,875

L If My

. ry M
incoate €Vt rv I
- \

hi i‘mml income 18

( \\& tm_l‘L‘l?
(©) RS 1.50,000

~__informationis those which
focus on numbers and frequencies rather
than on meaning and experience.

(B) Informal
(D) Qualitative

(B) Rs. 1,20,000
(D) Rs. 1,80,000

-

(A) Formal

(C) Quantitative
3. Which among the following district of

Haryana has highest urban child sex

ratio as per 2011 census ?

(A) Hisar (B) Mewat

(C) Ambala (D) Jhajjar

4. Understraightline method of depreciation,
cost of the asset is Rs. 11,000, scrap

value is Rs. 1,000, estimated life of ass \

~ ~ 18 10 years. Therefore. the amou{?\
Y depreciation is $
(B) Rs. 1580

(D) RsN50

(A) Rs. 1,000
(C) Rs. 500

The value of cot210° — cosec*10° =

o

©) 0 (D) -3

)

How much work is done in moving a
charge of 2 C across two points having a
potential difference of 12V ?

(A) 64 (B) 0.1667 J

(C) 24 4J (D) 124

national income” refers

to the country’s total output of final
goods and services in real terms rather
than in money terms.

(A) Gross

(B) Net

(D) All of these

(C) Real
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¥4: Tog8E Fi A ?1
JA) % 1,000 (B) . 1,500
(C) %. 500 (D) %. 750
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(A) 1 \(é) —1

© o @ =3
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iy S i ) indy U

(B) 0.1667 J
D) 12

—
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At Hanumanchattiof Haryana, Hanuman
(Ganga merges with which river ?

(A) Krishnawati
(C) Markanda

(B) Yamuna
(D) Dohan

The total of the current assets may
just be equal to the total of current
liabilities. Such a situation may be
called as working capital
situation.
(A) Positive
(C) Zero

(B) Negative
(D) None of these

Nahar Singh International Cricket
Stadium is situated in the
district of Haryana.
(A) Rohtak

(C) Faridabad

(B) Chandigarh
(D) Gurugram
Under the Payment of Bonus Act, 1965,

an employee eligible for bonus who has
worked in the establishment for not less

8. EIN F ggmwz § A TN F e
e wdideme
(A) Foomadt (&) ag
(C) mrz (D) e

F T B gFA 2 | vd vw fEul W
(A) 99TH= (B) FUMHF
) = (D) T8 & F1 &
e i st e Rfegm e
odfeme

(B) 91

10.

(A) TEa®
(® FEER (D) &
1r. aﬁ@m‘—!uﬁﬁm 1965 % 34, =El

R GEL Fr feawl TgE= B
5@3{{3@@@%@%%@3&%%\

than working days in the
accounting year. (\(b (A) 25 (BY 40
(A) 25 (B) 40 J’b (©) 30 (D) 45
(©) 30 (D) 45 \
12, 4R A 30w B U TGS TAM F 2 TER

of a random experiment and P( 0.35,

>
If A and B are 2 mutually exclu;jg;?&ﬁts

v B)is

T T & 991 P(A) = 0.35, P(B) =0.45 ~4
F P(AUB)FTA ?

P(B) = 0.45, then the value of 1
; (B) 0.85 (A) 0.90 (B) 0.85
) S
(C) 0.80. (D) None of these g) 0.80 (D)
Which of the following country became | 13, 2018 F Frq-T1 27 THTALEF Fefiarsites
the first to perform successf telcrobotic T 3 T e 1 e A IR
in th on : :

e rance | (B) India ) ®w

(C) Canada (D) None of the above (C.) FAE! (D) mﬁ ﬁiﬁﬁ

g A costing 18 a system of 14. Wﬁﬁ%ﬁ(ﬂﬁ@ﬁ@mt

accounting 'in)which all E_e;pendse? (ﬁxid e g = (ﬁ%ﬁ mm) w

and variable) are considered for the h

determination of standard cost for a feuferdi % o fifde Fg== % fome A

prescribed set of working conditions. a1 Fafo F=A %@w fepan Tt e

(A’ Standard (A) a9

(B) Budgetary (B) I

(C) Job ] (©) FT

> v e
(D) None of the above D) § ﬁﬁaﬁﬁq‘é’f Z
©
) -3- — ﬁD
T a¥ T S L
\o® \fcl: o¥ e e &tﬂ IB{{ [
2 - —
2 % W TEe)
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[n 1999, which Barrage was replaced by 15, Bl g 1999 9 fEa s #1 78

- B

the l'l:nhnikund Barrage in Haryana 7 ?If'-ﬂﬂ"’f?, s A & e 7
(A) Ottu Barrage (A) 301%Z, AT
(B) Tajewala Barrage o(B3) ATHATAT A7TH
(C) Anagpur Dam (C) e
(D) None of the above (D) 39774 14 m E |
16. The word ‘Depreciation’ is derived from 16. 98 ‘%fﬂfﬂt’_ﬂq’ =2 fedfifzzm =
o _ word Depretium. =T 2
(A) Latin (B) French @) ifz (B) %4
(C) Greek (D) None of these (C) U (D) Z38 B F12 72
17. Tooth enamel undergoes corrosion when | 17. 2dl %1 299 SETiE B ol 2, 54 HE F
the pH in the mouth is below pH i AAGIER
(A) 6.5 B) 7.5 (A) 6.5 (B) 7.5
() 5.5 (D) None of these ((g 5.5 (D) 378 & TS T2
B fafrma qemem % F0
18. is setting the exchange 1&09 wfess 4 F

rate in advance. for future transaction 30 B Il B I E RS s e D R afasg & FFm

Ath view to avoiding the loss that might

\%}m‘ S i cxchaned depiesiitiin m{sﬁ\(b ¥ fiu afi R = i = 2 )
(A) Speculation = (B) Hedging 3] (A) FEaA (B) w9
(C) Option (Dp Arbitrag%\(b‘ FORCE =l (D) TeF=Al

19. How many cities are there i&‘ﬁa‘ryana 19. 49 H ghamn § feas e d 7

at present ?

(A) 156 (B) 15$ (A) 156 (B) 157

(C) 150 (D) 154 (€) 150 D) 154

20. Which cost is the sum of total fixed cost | 20, F-dt m%ﬁﬁﬁam 31'}{@?

and total variable cost ? il e A R ?

(A) Total fixed cost FCWC (A) @?"ﬁ%ﬁm

(B) Total variable cost (B) T T S

(C) Total cost é0) T

(D) None of the above

(D) 3ugea | | HIS T

21. How many rectangles are th in t I R e ©
figure ? =L i e Pl ﬁqmﬁaﬁ % !
] l
(A) 9
(B) 5 e(A) 9
(©) 6 ‘
- D) 7 (©) 6 ((3 ?,
D

-4-
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U nder hqudaton. which giwves a complete

, 22, wiwEHT § apta. #a-w 34 s 6
list of assets not specifically pledged in - , ®

. -r\" O™ ~-i -i! oy 9 w@‘&a‘t'ﬁ‘m‘l{a . "ii‘a;q’ﬂq
AW \l."\v. :-(xllltx Cre( l_ulhl. f&ﬁl?mﬁﬁ . [ :nﬁﬂil ITU?. |

A) Last B (B) Last D (A) @ B (B) q;ﬂ D

(C) List A (D) List C (©) H=h A (D) g4t C

23, In Harvana. Morni and Tipra ranges ave | 23. &Ramon @ il aiw feaw gfrf  #)
separated by the valley of 31 ca A | PRES £
(A) Saraswati river (A) g

B) Markanda nver @) HrEher JE
() Yamuna river (C) T EGAl
D) Ghaggar river (D) I 74!

24. Which error is the maximum error in | 24. Fa-H gﬁ SHEE | ﬂﬁﬁ"ﬂaq iﬁ ?, El
the population that the auditor would be @] e =i e s fer ot
willing to accept and still conclude that gl o 3 S afiEn
the result from the sample has achieved am % q‘r@ﬁ% 2
the audit objective ? T F fomn @

A) Expected error (B) Projection error mgfz (B) qaquigﬁz -
() Tolerable error (D) None of these Yy wed 3ﬁ (D) Sﬁ ¥ %8

o

In France the low priced small books %(b | ° @'{ﬁl T[Tl aném’a q il #in
printed on poor quality paperand bounded 6 T e T F HwA # adh wn Fa ATEAL

in cheap blue covers were called 0 A FraTEl # Fn FEl S 9 7
(A) Almanacs $. (A) 9=
B) Chapbooks $ (B) éﬂﬁﬂ

() Biliotheque Bleue $ A0) ﬁ%’aﬂ?ﬁ b
(D) None of the above (D 3‘1’%’&3

- . Ferferfiaa § @ fr efaon @ stesh afe
26. Who among the following 18 known as 26 Lk

the Jahazi Sahib in Haryana ? FIMY A AR 7
(A) Pierre Cuillier-Peron (A) ﬁtﬁg;‘gﬁﬂ'{—ﬁ’ﬂq
(B) George Thomas (B TSt ATHd
(C) Robert Clive ©) a2 Fe1gd
(D) None of the above (D) Foder # & g AR
- . 1 Section of Factory Act, 1948 27. s A, 1948 #1 Fm-wf am
27 3};::;;(: I\(:-ashing facilities ? qrad gﬁmaﬁ =1 gfrarfeg Frefl t 7
(A) Section 42 [ Swction 43 (A) UTT 42 @) 49m 43
(C) Section 44 (D) Section 45 (C) | 44 (D) | 45
»8. Which one of the following cities of 28. frafafEad g wfeon & W"ﬂ T sifm
2 Harvana was under the control of last el ¥ P 3 9 7
Mughal ruler ? ¢ NG ELEL f
(A) Sonipat (B) Shahjdhannb:\d (A) Eil:ilfﬁl (B} YESETER
() Panipat (D) Hau;khas ((‘) q‘:ﬁ'qa (D) n
5-

D
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-

- 7 < \ 3ﬂ7 ) 0
29. Which leads to division of labour 29, fFaa 'ﬂ?’n’m_ a4 f_:‘q' - ElEE T 3
"7 nd leads to tremendous increase in serfor, ,‘_sz G U A
;,rm{il(‘lt\ 15 -

lizat (B) Global (A) Tergragan (B) A7t
wA\) Speciahization ) Globalization / . ’ |
() Privatization (D) "ih"”l“z:][:nn (©) ﬁwm (D) ?Tﬁ?rvl

30. What is the chemical name of tasting 30, Zfem ez (31‘?3]—3{1—‘:"7.7) F1 T ™
salt (Aji-no-moto) ? 1 % 7
(A) Monosodium glutamate (A) 'q'[q\'rg']'fie,'qu TGLZTEZE
(B) Monosodium chloride (B) ﬁﬂﬁgﬁﬁmm
(C) Disodium chloride 4C) g@a@qm

(D) None of the above (D) mf{ﬂaﬁéqﬁ

31. A 1s a software that lets 31. @__EW@W%,W@WW,
you view web pages, graphics and the mﬁmaﬂ'{aﬁaﬁqmma’m% I
online content. S
(A) Name Server (A)

B) Application Server (@Ww
(C) Web Server \O2C) Fa TR
(D) Browser 30 (D) HIH

32. Under quantity, the point a D> 32. _“_I"E"a; aialia,aaﬁg e W HFE"
which inventory carrying costs are e% EI’F]H’f, e RINRIED SO E |
o order costs. e 341%51
A) ('hea;mr ordey \oz\ (A) e 3
(B) Financial order $$ (B)

(C) Costly order $ (C) H&m 3qrem
(D) Economic order ~AD) foaerdt 1
33. __ wasthefi rst Haryanvi film. 33. mmm ot |
(A) Dharti (B) Chabilee et
(C) Bahurani (D) Phool Badan ) (B) i

(C) wgTeh (D) %< 5i&q
34.

o consists of the performs : ! 3q*q'la{-u Sl!ila'ﬂl RIS
of business activities that riilreut t!hlztzlr;‘i\e’. o ar ﬁ'qfﬂ-[a:ﬁﬁ‘@ ] bl .ﬁ
of goods and services from producer or aﬂmaﬁ amﬂﬁﬁfﬁ:ﬁﬁmaﬁ%mﬁmgj
manufacturer to Consumer gp user. ﬁéﬂ'ﬁ %ﬁ . ®
(A) .\!urknting (B) [’ricin;: W% | ﬁﬂk“l
(C) Buying (D) Selling 5 (A:) @ﬁam%qm? e

45.  The Video Gra b 5 aa:n

Phics Apy. )
standard ig S Array (VGA)

3.
(A) 1024 = 76 > Hifea it W (dfsfie) wee R
A) '4()H pixels AA) 1024 ;
B) 800 = 60 pixels (‘B) . <1 x 768 malﬂil
00 x eooﬁaﬂa
(©) 1280 x 1024 Rrslm
D) 640 x 480 frgirer
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36. In Haryana, 18 celebrated

to welcome rain season.

(A) Tee) (B) Baisakhi

(C) Gangore (D) Gugga Naumi

37. The coordinates and controls
the data flow in and out of CPU.

(A) Arithmetic Logic Unit

(B) Input Unit

(C) Output Unit

(D) Control Unit

38. The monthly income of 10 employees
in an office is Rs. 2,22.650. What is the
average income of an employee ?

(A) Rs. 22,265 (B) Rs. 22,500

(C) Rs. 22,750 (D) Rs. 22,700

39. In Haryana, Ladwa revolt of 1845 wa\?\d
lead by .
(A) Jobit Kha
() Jodh Singh

(B) Prata gh

(D) Ajit Singh

is a movement to
inform consumers and protect them
from business malpractices.
(A) Socialism (B) Anti-socialism
(D) None of these

40.

(C) Consumerism

The least distance of distinct vision for a
adult with normal vision is about
(B) 2.5 cm
(D) 256 m

41.
young
(A) 26m
(C) 25 cm

isk that the auditor may

priate opinion when
are materially

Which is the r
1 0
‘ve an inappr
gt!l‘w financial statements
misstated ? ’
(40 Detection risk

(©) Inherent ris

(B) Audit risk
(D) Control risk

==

1/2020 (26)

3. TamME 0 miwgFamF
fa".mm2|
) 9 (B) F@mE
(C) TP (D) TN FaH
37. iy % s s 2
TR #1 B9 30 70 Fa1 |
(A) HAfrgrfza =itaF g2
(B) 7932 g2
(©) sz g
AD) g 3z

38. UF FATEg # 10 FHAME F1 A1EF AE
a.z,:z{.g%o%tq&ta;ﬁmﬂftaﬂmm
A

;?;., %.'22,265 (B) %. 22,500
Q’bs(c) %. 22,750 (D) ®. 22,700
\\‘b
D 29, hom § 1845 F @A ERE W A9
- At
(A) Sifea @1 (B) wa™ faz
(C) <t fae D) Frsfa faz
40. IqTEASAT 1 grad A
31 3% FER § Ted FEE 8 a9 F:
UF AR |
(A) THTSER (B) Sfd-aqsER
(L) IvIFITETE (D) 38 & FI3 T8
41, UF G gfe ATl O A % oY gue g
1 = g 8 T
(A) 25m (B) 25 cm
(9 25 cm (D) 25 m
42. FHA-T1 A (fo=) 2 & oan wies &
FTIH S 2 T 2, 5 fadra H
FrAfa® T 8 39 Fe Ml 7
A) feeam fem (B) aifee few
(C) FeT2 e (D) Fogrd e
D
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43.

The Nazi you! h groups for children below
14 years of age

(A) Jungvolk ‘
(C) Brown shirts
¥ ___ revenue is defined as the
" increase in total revenue consequent
upon a small increase in the sales of the

(B) Gypsies
(D) Black shirts

product.
(A) Average
(C) Total

(Bj Marginal
(D) None of these

The highest peak ‘Karoh’ is located in
which district of Haryana ?

(A) Panchkula (B) Nuh

(C) Kurukshetra (D) Ambala

45.

system software 1s used
by all modern organizations to keep.

track of employees of the organization
who receives wages or salary.

46.

(A) School management
) Payroll management
(C) Hotel management

(D) Inventory management

the point (1, 2) and making an an
60° with the x axis is §
[ €Y

(Af V3x+y-B3+2=0
(B) »/.37x~y+2—\/§=0
(C) V3x+y-+3=0
(D) None of these

48. Haryana was earlier known as
(A) Brahmavara (B) Jai Bharat
(C) Brahmavarta (D) Bharatvarsha
49. Complete the following formula :
= Percenta ]
S — ge change in
quantity demanded = Percentage cian e
in price 5
(A) Cross elasticity of demand
(B) Income elasticity of demand
(C) Price elasticity of demand A_?;
(D) Elasticity of supply av
D

(%
o
i’f The equation of the line passing thl;)é;@\’

f

1/2020 (26)

sl & 10, 151 0 T

.|I'4’F’i:i:‘a‘;’:':ﬁ':éF
: > By g

(A) Frraree
(©) amvléﬂ

43.

T 1 3ene F forf d v
e e o o T g
o i feafa o S a2 |
(A) e (B)Pﬁw_l .
©) F (D) ¥ | %71 7
=frmon & foha 5t 4 wd 3= =) ‘T’
fedz 7
() T
(C) Fea

44.

45.

(B) &
(D) 3TF=Te

foren giveam 1 399 a4
AT TSI SR 319 3 FHATE! F 2F
T@A & fore foran tTen &, ST ARl 41 3
uj%m%f%l ‘
@)@kﬂﬁﬁaﬁz
) e e
> (C) Bieet Mtz
(D) ST s
forg (1, 2) & 7o et sii x ot ¥ w1y 60°
1 IV ST 5 1@ Y et
(A‘) \/§x+y—\/§+2=0
B) Bx-y+2-y3=0
©) V3x+y-3=0
(D) 378 & 1 7

BT 5 yeet

AT o)
(A) ST&ITeR
10) s

46.

47.

48.

49,
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50. Human Development Report whicl
annually brought out by e b0, e f"n;m f}rjrj_ M Aty w0 AL
(A) lnl.m'nnt‘innnl Monetary Fund (IMF) I W) B |
(B) lntt{'lil)l:\llnnnlIi:mkfnrI{vmnu(rm'lum (A) e qifizh w8 (IMF)
. ":"A ey vlnpnwnE (“_"““ (B) S2vrae fm it (29974 U
(C) United Nations Environmental i
Programme (UNEP) m (IBRD) | ,
(D) United Nations Development (C) J1528 A91 gargra-2a! S (UNEP)
Programme (UNDP) (D) FATgeE Jerg 2aeTHZ T (UNDP)
51. In which vear the Indian Institute 61. WIAR YAy degm (11M), TTEa® 1 24
of Management (ITM), Rohtak was o e 1w 7
established ? i A '§'§ '
(A) 2009 (B) 2001 (A) 2009 (B) 2001
(53 BOLA (D) 2013 (©) 2011 () 2013
52. “Dispersionisthe measureofthevariation | 52. * waw (feryiq) wai & fi=an =1 wm 24
of the items.” This is defined by g aftfeua R
(A) Brooks and Dick \Q"q}\) g i fe=
(B) Simpson and Kafka @50 (B) fiyeeg si Fren
(C) Spiegel (8\'\ A4 forme
(D) A. L. Bowley Q D) T, UE. A
53. ____ computerscanexecute b&ns 53. Wﬂﬁ HHe T e
of instructions per second. $ # Fefea v awar 2
(AF Super B) Mgl frame & qw (B) i i
(C) Mini (D) Micro (ORCE (D) =TS
54. In Haryana, Indori river rises near 54. Ff('!m’%l B £ e 1 B B 4 B ks
) ivalil hills fre 8 |
(A) Shivalik hills ) Rt = qeifeal
(B) Kaithal (B) Fue
(C) Kunal (C) Fome
(D) Mewat hills (1p e i gerfzai
55. Which country is the leading producer of 55. WA-TI 291 FiE! 1 3ft IeqEE R 7
77 coffee in the world ? B) China (A) ATSfiE ®) ==
(A) Brazil B | () W (D) Freife
C) India (D) Columbia &
(C R
oo wildlife Sanctuary of 56. efamm F @ @ ta:‘a;rma AT
56. Khol Hi-RalaE o plished in the year of A A gl
Haryana was € B) 2002 (A) 2000 B) 2002
g (D) None of these () 2006 (D) ¥ A Fré T
(C) 2006
9. D
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E—— audit is yet another
Sechanisim directed to ensure good
e go\'t’]'nance‘.

(B) Internal
(D) Cost

o »;.\'_‘_l[
\) Statutory
* yagement

§) Manag

Jich of the following city, country’s

nfield industrial smart city was

ed by the Prime Minister ?

In wi
first gree
inaugurabl
(A) Chennal

(B) Mangaluru

(C) Aurangabad

(D) None of the above

Who designed the High Court building
of Chandigarh ?
(A) Edwin Lutyens

(B) Le Corbusier ]

Q
(D) None of the above \2\(0'
&.

The Levels of Management L@Nl‘. of

(A) Top Management
(B) Middle Management
() Lower Management

(D) All of these

() Laune Baker

In a certain code SWAN is written as
VvZDQ. How is ROAD written in that
code ?

(A) URDG
(Cy UPEF

(B) UXDQ
(D) VRGD

. ____________ costs .are incurred
each time an order for the purchase of
material is placed and are expressed
as rupee cost per order and include the
cost of getting an item into the firm’s
inventory.

(A) Carrying YI}) Development

57.

() Conversityh l!)), Ordering

gﬁﬁaamﬁaafanﬁ%ﬁmqm
(A) ifaferss

feferfiad
afrqdrm aiefeh

mﬁﬂﬁmwm?

58.

60.

61.

62.

1/2020 (26)

S ~fien At Fia1 12 TE
gorre! 8 |
(B) HmAfi®

(D) ST

3 § feg T #, 29 F TEE
@ R gaEEE 3

() fr= weem
@ At

wF kT Wl § SWAN &1 VZDQ
ST 2, @ 3 9T § ROAD T
o ¢

LAr URDG
(C) UPEF

. qra @ aR @ S R,
Tere} ) wlie ¥ for v v R &
il wfy aTRer sqU ST % ®9 3
o e & i ged wd o wegE A O
F1 uTed F ) emra e # |
(A) I84

(C) ®qTaTo

(B) UXDQ
(D) VRGD
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Which of these is an oldest wildlife

sanctuary of Haryana as per their year

of establishment ?

(A) Kalesar (B) Bhindawas

(C) Khol Hi-Raitan (D) Khaparwas
e

A 18 usually a temporary

partnership without the use of a

firm name, limited to carrying out a

particular business plan in which the

persons concerned agree to contribute

capital and to share profits or losses.

(A) Partnership

(B) Public Company

(C) Joint Venture

(D) None of the above

1-12-91 is on Sunday. Which is the fourth
Tuesday of December 91 ?

(A) 17-12-91 (B) 24-12-91
(C) 26-12-91 (D) 31-12-91

»‘3‘@

1/2020 (26)
(2 mmﬁ%mwmﬁmm
Ty appamod FA-ER 7
JA) W%} By fazam e
(C) @& #-Yam (D) EETH
v i
64, WH_ qd: U A wwiEr
R, ek ween 7 A o fon 2 2, v
ferdv R e a0 g A A HifEa 2 2,
v wafir safa ft =1 AmTem #A 2w e
ik mfit # | 0 & for g 219 )
(A) wrfierd
(B) TSI I
C) GgFd TR
/:D)%ﬁaﬁé:ﬁ

65. 1-12:40FH Taar o, 1 gt 91 % =2
RIS =1 T - aE &t ?
)y 17-12-91 (BY 24-12-91

(b(C) 26-12-91 (D) 31-12-91

)

5
Name the first Speaker of the Legislatiy QS\iG. i i e 6 Tt Tie FHAY

Assembly of Haryana.
(A) Shanno Devi

(B) Rao Virender Singh
(C) Ran Singh

(D) Swaroop Singh

$ .
$\$

Which Section of the Companies Act
specifies the matters to be included in
audit report of a company e

(A) Section 225 (B) Section 226
(C) Section 227 (D) Section 228

The President of USA during Cuban
Missile Crisis was

(A) Abraham Lincon

(B) John F. Kennedy

(C) Wudro Wilson

(D) George Bush

-11-

4A) T SR
(B) U= itz &
(C) T fas

(D) @&y &R

67. o e f - U & w5 R
srE-vdiien g § e awet & [de
FAR 7
(A) HT 225
(C) Hm 227

(1) 9T 226
(D) 91 228

68. o o TSl st % A Uy ¥
gt &
(A) 37sTed foaa
4B) ST TH. FHA
(©) g2 faewm
(D) TSl g

W)
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. malleable metal jg
69. 8

(B) Lead
(D) Copper

Tht' bc
) .\lunnmum

(C) Gold

In which vear Haryana had linked all its
-ith electricity ?

(B) 1995

(D) 1970

70. _
villages wl
(A) 1999
(C) 1975

1$ an instrument to earn
more foreign exchange to bridge the
balance of payment (BOP) gap.

(A) Export promotion

(B) Import substitution promotion

(C) Exim policy promotion

(D) All of these

y g o

World Water Day is celebrated every
year on

(A) March 22

(B) March 3

(C) March 21+ 6

Qg»

Which of the following is correctl $
matched ? §$

Lakes

(D) None of the above

Districts of
Haryana

Rohtak
Sirsa
Faridabad

Kurukshetra

(A) Brahma Sarovar —
(B) Damdama —
(C) Badkhal -

(D) Bhindawas -

[fthe day before yesterday was Saturday,
what day will fall on the day after tomorrow ?

(A) Friday (B) Thursday
(C) Wednesday (D) Tuesday

=1

(=) ]

is  the condition of
and emotionally able
al functions normally or

being physically
to perform vit
properly.

(A) Safety

. (B) Service
(C) Health

(D) Hazard

~22.

6G9.

70.

71.

73.

74,

75.
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gpaiten stemaad=fa g @

(A) veEgHifaan (py e
(C) = (D) afan
/ - ~ -
fapm ad 0 whenon 3 saa a8 e
TR 1 . ?
?A?rﬁiz?l ' (B) 1995
() 1975 () 1970
99 (BOP) a7
v % foru saferr faeeft fafrm #am =1 o
IGFHT |
(A) Frafa g=m
(B) HA™TE BT
(C) rmaTa-faata #ifa g=m
f§%% 7 geft
g feam o ufd ad gamn
Sl
g% T ,
(B) 3 9T L f""b
21 914
(D) 3 H § I3 7

Frrferfian & & - <irft T 2 7
Bl T &

(A) FETET -
(B) aam . _

e I e A v F R wfEw @, @
AT e 3 a1 1 o -1 g 7
() Yppam (B) Tam

4€) FEam (D) TTeram

(A) g

© (B) &

(D) @au
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76.

-]

|

80.

81.

www.HaryanaJors e

Sacrificing ratio means the forgoing a
fraction of share in favour of a _ v«
partner by the old ones.

(A) Minor By New

(C) Sleeping (D) Retiring

Find the odd one among the following :
Skin, Eye, Leg, Nose, Ear

(A) Nose (B) Leg

(C) Skin (D) Ear

Which profits relates to those profits
which can be legally distributed amongst
the shareholders of the company by way
of dividend ?

(A) Divisible profits (B) Interim profits
(C) Quarterly profits (D) Annual profits

Juhi Chawla was crowned as Miss India in
(A) 1988 (B) 1994
(C) 1981 (D) 1984

<
Satara was merged with the Brit 0

administration in 1848 under the pogy, f

$$

(A) Subsidiary Alliance
(B) Divide and Rule
(C) Dual Government

(D) Doctrine of Lapse

Chips manufacturers usually flush bags
of chips with gas such as
prevent the chips from getting oxidised.
(B) Hydrogen

(D) Nitrogen

to

(A) Oxygen
(C) Neon
Kite flying is a major event in which among
the following festivals of Haryana ?

(A) Lohri
(B) Dussera .
(C) Basant Panchami

(D) Baisakhi

76.

77.

78.

&
,00

80. =¥ 1848 & Taw = Tatew wvmER § faca

81.

82.

-18-
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AT (Bfrmrefin 1forn) #1514 2 70

wiftemgm qrrfran % g9 0 9
1 UF WM g F

(A) Aranfem (B) ¢

() Fferm (D) ET-Ea 7R
et s 7192 1

(A) AT=h (B{&‘

(C) T (D) FH

F-F @9 39 At | gl ';ﬂﬁ_ﬁ,?ﬂﬂ‘m
%mam%m‘c\%d’ﬁhﬁﬁ

Wﬁﬁﬁmﬂf\@mﬁ
5@1‘1‘1&1 |

(A) 1988 (B) 1994

(C) 1981 (D) 1984

T fify o qea feran o1 7
(A) TETTF Taa9A

B) feazE vz =w

(C) 2l TR
) EifFg 317

fam s9H I fow & 99 9 F 919 3
v fmflasag,afs =
o =1 IU=fiE 0 8 Uh1 1 TF |

(A) FTISH (B) ETESISE

O RERIE (D TEZISH
Frefeaftaa # @ sfon # 8 =er | gan
IS GE € 7

(A) SrEt

(B) =T

) s

VR LLE]

D

i

»
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[t;ngliﬁh l;anguage m
st
. the following question, out of the R
” Ll:vcn“f-"'““" of words, choose the mis- g7. ‘aHiE4H GEES Arepifaa #1314 2
spelt one. .
(A) Head uaters =" @A) forefi @ TaeTE A TEATR
,_(B) Curve (B) Tl U\E"éﬁ @Jﬁ,‘ =P
(C) Projection = » 7 sim
(D) Educate A (C) wort TR e

. ) D) =0 9 FE T8
@ The following question has four words .

(options) of which three words have a

similar meaning or are synonyms. One : -

of the words has a meaning different | 88. gt et efft =rerd & yAe N

from the rest. Select that word (option) Tora fawmeo =1 e 2 |
as the answer.
(A) foresight \09)’[”'
(B) prescience ~Q6‘ (B) 9fHOEES
(C) foreknowledge ‘)O (C) FTaT=F
(D) gredence O ]
4 (D) ¥ & P 7
85.  The following question consists \vord

or phrase which is underlj el in the
sentence given. It is follow

certain ¢ »
word or phrase. Select t rd gr phrase | 89 fer TS 367 372 R |
is closest to the site i aning of (A) 3
the underlined word or hrase. A
Raju often walks A B) o=
Ju often walks to school.
JA) rarely (B) always (©) W
(C) sometimes (D) never

\@ In the following question, out of the
four alternatives, choose the one which

can be substituted for the given words/ 90. ﬁiﬂ El“ﬁ ai 3TN & gag s =) wﬁ;ﬁ
sentence. a; J b
Words written on the tomb of a dead aﬁ é?l e, 3% St L n ﬂ%‘g
person. (A) TR

(A) Epitaph

B) Etymology? (B) feren

(C) Epigraph v (O~

(D) Epilogue 3

(D) =1

D i ST ) o
“14. &%,}5
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